The circuit of capacitors is at equilibrium.
(a) Find the charge @1 on capacitor 1 and the charge Q2 on capacitor 2.
(b) Find the voltage V; across capacitor 1 and the voltage V5 across capacitor 2.
(c) Find the charge Q3 and the energy Us on capacitor 3.

C3=5uF

C{=6uF C,=12uF
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The circuit of capacitors is at equilibrium.

(a) Find the charge @1 on capacitor 1 and the charge Q2 on capacitor 2.
(b) Find the voltage V; across capacitor 1 and the voltage V5 across capacitor 2.
(c) Find the charge Q3 and the energy Us on capacitor 3.

C3=5uF
Solution: I I
1 1\ ¢
@ 2= (o + 13 ) = 40P C;=6UF C,=12uF
Q1 = Q2 = Q12 = (4uF)(12V) = 48uC. I I I I
() vy = &0 = BC gy 12V
C1 6uF H 0
v = @2 BuC
Ca 12uF

(€) @3 = (5uF)(12V) = 60uC,
Us = %(5;@)(12\/)2 = 360uJ.




TTHHTT
WalE

3 'y - i E_--
§ rRes

Consider the electric circuit shown. Find the current I; through resistor 1 and the voltage V3
across it

(a) when the switch S is open,

(b) when the switch S is closed.

(c) Find the equivalent resistance R., of the circuit and the total power P dissipated in it when
the switch S is closed.
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Consider the electric circuit shown. Find the current I; through resistor 1 and the voltage V3
across it
(a) when the switch S is open,

(b) when the switch S is closed.
(c) Find the equivalent resistance R., of the circuit and the total power P dissipated in it when

the switch S is closed.

Solution: |
12V

@ =155 =24 Vi=(A0)(24) =8V, % R, =40 :

b I—1—12V — 1.5A, Vi = (49Q)(1.5A) =6V

() 1_5294—29_' 3 1—( )( )— . —/\/\/\/\

1 1\t _
() Req:(E+E> 120 = 49, R1—4QR _2Q§
(12V)? 2
P = — 36W.
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Consider the electric circuit shown. Find the currents I, Is, and I3

(a) with the switch S open,
(b) with the switch S closed.
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Consider the electric circuit shown. Find the currents I, Is, and I3

(a) with the switch S open,
(b) with the switch S closed.

Solution:
8V — 12V
a) I = = —1A,
(@) I 0
I = —1; = +1A.
Is = 0.
8V — 12V
(b) I = = —1A,
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